FRACTIONS
Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

1.

2 Show that 2

(Total for Question 2 is 3 marks)

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

2.



. 1 3
9 Work owt 3; w | _E

Ciive your answer as a mixed number in its simplest form.

{Total for Question 9 is 3 marks)
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3.



-9 2x . ax + b
* in the form

12 (a) Write A
r+9 X -3x x4

where a, b, ¢ and d are integers.

3 |
b} Express =
(b) Express x+1 x-=-2

4
- T a5 a single fraction in itz simplest form.

{Total for Question 12 is & marks)
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4,



23 The diagram shews a container for graim.
Daapram NOT

m: T accurately dravn

hm

4

The container is 3 cylinder on top of a cone.
The cylinder has a radius of 3m and a height of hm.
The cone has a base radins of 3m and a vertical height of 4m.

The contaimer is empty.
The container is then filled with grain at a constant rate.

After 5 hours the depth of the zrain is § metres above the vertex of the cone.
After @ hours the container is full of grain.

Work out the vaboe of .
Give your answer a5 a fraction in its simplest form.
Yo moust shorer all your working,

(Total for Question 23 is § marks)
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16. (a) Workout = 4 >
3T e

Give your fraction in its simplest form.

bt

Ll =

(b) Work out

|
| b

(Total & marks)
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6.

7. Bob has 120 beads.
The beads are either red or green.

Bob gives % of the beads to his fnend.
% of the beads Bob now has are red.

Work out how many green beads Bob now has.

{Total 3 marks)
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7.

18. (a) Workout 2o - 1%

(Total 6 marks)
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8.



11. There are 300 pecple in the cimema.
é of the 300 people are bovs.

% of the 300 people are girls.

The rest of the people are adults.

Werk out how many people are adults.

(Total 4 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier
9.

1
16. Weark out JT w2

i || b2

Give your answer in ifs simplest form.

(Total 3 marks)
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10.

i1
7 Work ou =+=
(a) Work out 2t 3

Give your answer in its simplest form.

(2
() Work out Exi
L

(2
(c) Work out 423 = 12

You must shorr all your warking,
3
(Total 7 marks)
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Charlie and Jasmine share cartons of apple juice.

Charlie drinks % of a carton avery day.
Jasmine drinks % of a carton every day.

Any apple juice left in a carton at the end of the day is used the following day.

The cost of a carton is 70p.
Charlie and Jasmine buy just enough cartons to last them for 10 days.

How much do they spend in total for these cartons?
Give your answer in £.
Show your working.
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12.

21 Write as a singla fraction in its simplast form.
¥ x+1 6B«
¥+2 x-2 x2 -4

.. [6]
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13.

Mrs Milis buys 4 packs of treats for her cats, Fluff and Tigger.

She gives Fluff -é— of a pack each day.

She gives Tigger % of a pack each day.

For how many complete days will the 4 packs of treats last?



